Making A Model Astronomical Telescope
Chose two lenses one with a relatively long focal length ( say 50cm) and the other with a relatively short focal length (around 10cm) to act as the eyepiece..

Find the focal length of each lens using the mirror and pin/parallax method.
The eyepiece lens acts as a magnifying glass with the .real image as its object




eye ring


Set the lenses (fo+fe ) cm apart
Observe through the eye ring. Move the eyepiece lens slightly until you can see distant objects very clearly.
1. Calculate the magnifying power of you  telescope.
2. The moon subtends an angle of 0.54 degrees to the naked eye. 

Calculate the angle that the moon will subtend through your telescope.

3. The moon is on average  384 400 km  from Earth. Calculate the diameter of the Moon.

4  The Sun subtends the same angle as the moon 1.496 x 1011m. Calculate the diameter of the Sun.

5. The focal length of  an amature refracting simple astronomical telescope is 1.2 metres. The objective lens is 100mm in diameter.

a) Calculate the focal length of the eyepiece lens needed to give an image of the moon which subtends 7.2o.

b) What is the magnification of the telescope?


(fe  + fo) cm














